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se. S “rH e wg @wn? [ 28, " =M i 1w (wR(G?
@ w5 Ofa i@ TR @ Ry
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(@RED) *e-3 T s o~ o, o, | (R T 2w FHds e en- fFae, a7,
w5, $43, fif, ARE GBS | FoIR ST Oy, AT, RO, T 4HO |

A %% 77 BT | : 3¢. CFIAD wF IAR?
S, A I T, et ey’ -a TSl @ =6 @) *ie
25 Sieetd Zom- L@ i ® 776
@ R S A YIL SERIH ! Fill in the blanks with the correct option. (3% — 20)
@ 2R Fet g Wi @ wrpfa ! 2. The machinery — working well.
@) SR S Sl S A W is @) were
@ G T S are & should

AT 0 J9, [ oG- @ O Hﬁl? (TR Machinery (F&71) % uncountable noun, ©I%
R T SIS TN B 3 wde.  verbsingular WRis 3 | R Option (7)-2 7o Ged |
I8 wwe FafegE fe fe AR 8 sifefiEery: 2. Three fourths of the work — finished.

TR cid e e sefe a7 1 i (@ havebeen @ has been

39, 6 o TS @R S aRge gy | @ had were
é“;ﬁ RIS I Sl - P raction (SI) G- two thirds, three fourths-
() T B! ® i:ﬁ:fﬁg F{E &9 99 countable noun (plural AFE verb plural F,

S S o T, SR R Glery s | V% uncountable voun AT verb singular %) | work
Sbr. T YA — w;aw* Y R I | L TR uncountable noun. ©1F @A verb singular TR

has been ZC | FST correct answer (%) 1
%‘-ﬁﬁi W 2. At least one of the students — full marks
35, I A w5? o degong
get gets

@ TRMSR N @ NGB @ e
: getting & have got
@ it 78 ZeT S g8 2 (@A) One of + Plural noun + Singular verb e

2o, m;mwm@a ﬁ"f‘?‘ﬂﬁg one of < AT plural noun 7 1 verb singular q
o e T Verb- buse form-R s Wes G I 5 W
@ ® %0 Wsinguhr@fﬁmmﬁ)ﬂ' sq @
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9906883485 ; misunderstood me - v o

RY. I Mo e 7 , should misunderstand me T
@ e @ A { (@ should not misunderstand me S0 9
@) FTAE AR i (@ misunderstand me g

STAPT e O R, e <R oA AR | Lest + indirect object + should + verv-<4 base |———

R, TR A I A T ? L form 771 ©F% R Option (-2 e Ber) | B T
@ SR T i { wo. I wish today — Friday. N

(ERED I T T P Tl WA G O (&) were @ will be % =
T QG | 6 TGV GRTITI  (GERL) A W I PR Fe] e B (S g

Q0. @FFD T SrowEa” Tugad? { wish + sub + verb-< past form 07 | Be verb-<H |——ro
@ afeam @ fere e o past form T subject singular 9 plural TF b e
@ TR CRLeIs i F A (P were T | TSA WA Option (7)- | ¥

ﬁmmwﬂm‘ﬁmme; % 70% 6 | » o
GEHAFY FAH e | (Zraqd GG THAF W 5. Which word is both a noun and a verb? % 9
W!ﬂ@'ﬁmm@ﬁﬂﬁmmm @ advice " (@) practice _—
i (G 7 e 80718 e 37 | (@ belief @ brush b




- (TR Advice (B#07) T2 noun-<& verb TR advise
(G (F76T) | Practice (SFe) TR noun FHverb |
0% practise (S @9]), Belief (147) TR noun-

&7 perb 307 believe (FPET FF1) | Brush noun <=2

verb ©S¥Z | Brush (n)- I I 9, Brush h?]'"%

A8 T, 7T, T | €3 (9)-Z 7 Te |

@2, The noun form of the word 'Hate' is—
@ Hateful & Hatred
(D Hatefully (® Hated

Hate (9" 1) TR verb. Hate- 4 noun hatred
(§97); adjective hateful (J9); adverb hatefully ;

(§9S13) | FER Option (%)-2 7% T4 |
»9, Which one is an abstract noun?

Childhood &) Honest

(D Flock @ Cattle

Childhood (€*17) Z1%8 abstract noun. Honest
(7€) ZT% adjective. Flock (M7 I1F) T !
collective noun. Cattle (317 %1%) Z0% collective :

noun, JEHE G Option (F)-2 7o 8FF |

Choose the right form of verbs in the brackets (ﬂ-@b}.

©8. He couldn't help (write) the letter.
@ to write wrote
(1) writing ®) written

(GREY) Cannot help/couldn't help-<9 99 gerund ﬁﬁfﬁé
verb + ing 9077 | TSR Rz (7)-2 A Bem :

¢, Had I been a millionaire I (establish) a hospital.
established (@) would have established

@ would established @ would have been esiablished.
R T L Had + subject + verb-<H
past participle UPLT, (F WL Subject + would |

; = 3 : g Er :
have.+ park-IR past pacticiple S| IRA, 8-'{. "The elephant is the largest quadruped

FRmRnA G (4)-F AF T |
4, It is | who (be) to blame.

@ is @& are (@) am @) were
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(axwm) Relative pronoun (%7~ who -7 A7 verb
@73 antecedent TR 24 | Relative pronoun (T noun 3?
pronoun-4% AGTCE T CIF relative pronoun-94 |

antecedent T | YA Relative pronoun o who-¢ ; OQuadriped animal ¥ FF™1% 219 | v

antecedent T €12 who <& F verbam T |
©9. Nipa as well as her brothers (come) to me.

@ have come (&) are coming
(1) was came has come

5210 subject as well as T4 F& I verb as
well as-<99 ﬁf@’sub;e::t SR 33 | G as well |
as-@7 779 subject ‘Nipa' singular, e vfrbl::ii

mgufnr G?E'ffﬁhm come (T | am Jﬁ'ﬁﬁ @'@? {" ﬁ’) i

:obr. I had (have) my meal before you came.

#) had have
() been (@) have been

: (QERB) Had- 5 7 verb- <& past participle 7 | Have-
«IF past participle R had. JFIBCE have (TG
T, ©1Z (7)-2 0% BE | G have I G |

é*ﬂb. iR D ICER T

Which is the correct English Translation?
@ lhavea few Friends @ I have no friend
® I have few friends @) I have little fnends
| (TR A few &4 positive TS TH WAE; AT fow &
negative G- 1% FeTeIR 57 | @IE (7)-2 HFF B

Eiao_ {1 I A1 el caree”

The correct English Translation is—
@ Every man is for himself
@ He is a self-styled leader
@ Opportunity makes the thieves
®) Good wine needs no bush
-Sﬂ’f styled 4= foro7 TATEI, FCATE e
EReFIID (@ w7, A Sy JIGTEE | O
proverbial meaning RO (4)-3 FF Beq ) 9w
Every man is for himself e~ 55T AT &N 75T 4
Opportunity makes thieves e~ FAr o1 LiE 9E
Goor! wine needs no bush =¥ = AT Lo 0T Y |
: 8). "Call a spade a spade'.
The correct Bengali translation is—
@ A ¥ SRS oF (@) Q19 I A T
@ =Er=iE 3 3 | (@ TEE T A |
| (TR Call a spade a spade F4~ CTETZIE ST F7;
=»fg ©IIE B T e EIE T T | TR
(1)-2 7T BT |

animal in the world.

The correct Bengali translation is—
@ 2fe fR3R T TR T Al |
@ e e wenE = FTE A |
@ afe +23= w=ow Tz e 2

® 2fe <37 7w R EEm A |

Option (9)-C% 5g™% 19 =0 AT | €12
option (9)- -3 e Ted

8\:: A topic sentence can be put in the paragraph—
(@ at the beginning & in the middle
() at the end @ anywhere

| () Topic sentence paragraph &3 S0 (at the
beginning) 7 IR paragraph & main idea (¥

WW:‘T?@) 3353@@?;




88. The correct passive form of the sentence !

"they laugh at us" is—

& We are laughed at them

&) We are laughed at with them
() We are laughed by them

@ We are laughed at by them

(TR Active voice G passice voice T 73T object |

[0 subject form 7, tense auxiliary verb 307 |
+ FTverb-«H past participle T + by T7 + subject

B0 amfisjare A | TR A0 B8 (%) |

8@¢. The correct active form of the sentence :

"Health should be taken care of" is—
(® We should take care of one's health
® One should take care of one's health
(1) We should take care of ones health
We must take care of our health

Passve 9] Subject 1 317, Active 4 4R Subject |
R ane W we T 1 (F) @ (1) (B we & possessive form
RO one's Sones W | We <R possessive form T our. (¥) |

(@), S+t
( we 4 possessive RO our Wﬁmuﬂﬂ?ﬂ‘ﬂﬁ!ﬁqa 3

) Hﬁﬁ FI one < possessive, form, one’s @R |

8%, Which one is the passive form of the sentence

"keep your word"?

Your word must be kept
@ Let your word be kept

@ Your word should be kept
Let be kept your word

Impemﬁw sentence (F passive FI7 g - Let
+ object + be + T verb- 49 past participle G
object TR your word 3% keep < past participle |
TR kept. ©1F TR Option (3)-2 70w Bew

84. Choose the correct indirect form—

@) She said that she was happy to be there that evening .
) She said she was happy to be there that evening |

() She said that she is happy to be there that evening |}

She said that she were happy to be there that evening

(EERED) Option () © (5) 47 9197 (3) (@ that (7 %% (%) (@
she 481 09 wns < RS were T AR | that <& 9 |

past tense 4T DG past tense T | BF (-0 that =

el present tense (is) S8 7 © 7 | Joa 70 64 (3) |

8tr. Choose the correct sentence.
You are going to school, isn't you?
®& You are going to school, aren't you?
@ You are going to school, are you?
@ You are going to school, do you?

(@B®AT) Statement positive T tag question X option
negative. (%) @ (V) 1, FITT G GO0 tag question :

TR positive (F) ﬁmg question 07 negative IS

R Subject "you'- G5 Y is (singular) I

7T | O3 Wfre B | AE B (4) |
Eh Choose the correct sentence.

@ You, he and I am guilty

@ You, he and I are guilty

@ I, you and he are guilty

® He, [ and you are guilty
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& object form 07 | Active voice-47 sentence [5
present indefinite tense 4 OE | ©IF auxiliary verb |

R second person &% IR third person ((TFF-1,
you and he) 77 | ©1F (9)-3 @i e Bow |

i @0, Choose the right answer.

We are in a quandary. We cannot thrive.
What can't they do?
@ Drive

(M) Consecrate

&) Flourish
Move

| @D Thrive &4~ 731 a1® 1 Drive 79

(FFZ) BIer B, Flourish @4~ 1yfa aife
F41; Consecrate We— ARI T Move T4~ 5
3 ForA | ©rF e (9)-2 0 e
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